3D Printed Parts
Bed Clamp

Corner Filler
Electronics Mount
Extruder Mount

Z Carriage

Endstop Mount
Corner Frame Motor
Corner Frame

LCD Bracket L:
LCD Bracket R
PSU Mount A

PSU Mount B
Hotend Carriage
Hotend Carriage Lid
PCB Mount

Wire Bracket

Wire Tube Bracket
Spool Holder L
Spool Holder R

Bought Parts

Balljoint Kit

Belt 1.1m

Carbon Fibre 3mm Rod 186mm
Carbon Fibre 8mm Tube 445mm
Carbon Fibre 8mm Tube 220mm
IEC Mains Inlet

Delrin Wheel Kit

E3D Titan Bowden Kit

E3D V6 Screwfit

E3D Volcano Kit

Fan 25mm

GT2 20T Pulley 6mm

GT2 Idler Pulley 10mm

GT2 6mm Belt Tensioners
Microswitch

MKS Gen L PCB

NEMA17 Motor

Print Bed 220mm

PSU

2020 Extrusion 240mm

2020 Extrusion 600mm

M5 Rubber Feet

Nuts n Bolts

M3 Nyloc Nut

M3 10mm Bolt

M3 40mm Bolt

M3 55mm Bolt (or thread bar)
M2.5 12mm Bolt

M2.5 Nut

Sheetl

Quantity

PRPMAMRPRRPRRPRRPRPRPRPOOMWOWWRE R WW®

Quantity Supplier SPN Manufacturer MPN

12 Rapid Online 51-1659 Modelcraft 10209
3 Ebay — TinLyds
6 ebay
2 ebay
1 ebay
1 Rapid Online 23-3226 Bulgin BZH01/20000/02
9 Ebay/Ooznest
1E3D
1E3D
1E3D
2 ebay
3 Ebay — TinLyds
3 Ebay — TinLyds
3 ebay
4 Rapid Online 78-2402 Camden Boss CSM40510A
1 ebay
4 ebay
1 Ebay — TinLyds
1 RS Components TDK Lambda

12 Ooznest
3 Ooznest
3 Rapid Online

Quantity
5
12
3
3
12
12

Page 1



M2.5 Washer

M4 16mm Bolt

M4 10mm Bolt

M4 T-Nut

M5 35mm Bolt

M5 40mm Bolt

M5 6mm Spacer
M5 Nut

M5 Nyloc Nut
Spring (Bic Softgrip)

Polycarbonate/MDF
Bottom Panel Blank
Bottom Panel Vent
Bottom Panel Mains Inlet
Base/Top Plate

Top Panel

Sheetl

12
3
120
120 Ooznest
9
3
9 Ooznest
3
9
3

Quantity

NN R R

Page 2



	Sheet1

